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Carrying Capacity vs. Stocking Rate

• The number of all animals an area of 
land can support long-term while 
maintaining or improving the rangeland 
resources (vegetation, soils, water).

• The number of livestock an area of 
land can support for a designated 
period of time while maintaining or 
improving the rangeland resources 
(vegetation, soils, water) over the long-
term.
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What is the Objective?
Livestock?

Wildlife?

Environment?

Plants?

Aesthetics?
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Essential information

1. How much forage do you have (Pounds)?

2. How big is the area (Acres)?

3. How much are you allocating to an animal (Utilization)?

4. How much food will the animal eat (Forage Demand)?

(Total Available Forage X Percent Utilization) ÷ (Animal Forage Demand) = Animal Unit Equivalent

Total Available Forage
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How much forage do you have?

• MONITORING!!!!
• Residual Forage vs Annual Forage

• Hoop Size and Conversions
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How much forage do you have?

• MONITORING!!!!
• Residual Forage vs Annual Forage

• Hoop Size and Conversions
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Site Selection 
for Forage 
Collection
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How big is the area
Grazable Acres         vs.          Actual Acres
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How big is the area (Only 67% is grazable)
Grazable Acres         vs.          Actual Acres
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How big is the area

• Actual acres and reductions to Grazable acres
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How much are you allocating to an animal

• Utilization allowance
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How much food will the animal eat
• Cattle are the Standard



BE BOLD. Shape the Future.
New Mexico State University
aces.nmsu.edu

Calculations

1. 20,000 acre ranch produces 550 pounds of forage annually per acre 
and has a desired utilization of 35%. How many cows can they run 
in a year-long grazing system?

(Total Available Forage X Percent Utilization) ÷ (Animal Forage Demand) = Animal Unit Equivalent
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Calculations

1. 20,000 acre ranch produces 550 pounds of forage annually per acre 
and has a desired utilization of 35%. How many cows can they run in a 
year-long grazing system?

20,000 acres  X 550 lbs = 11,000,000 lbs Total Available Forage

20 lbs X 365 days = 7300 lbs a year per cow (demand)

(11,000,000 X 0.35) ÷ 7300 = 527 cows (Animal Unit Equivalent Year; AUY)

(Total Available Forage X Percent Utilization) ÷ (Animal Forage Demand) = Animal Unit Equivalent
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Calculations

1. 20,000 acre ranch produces 550 pounds of forage annually per acre 
and has a desired utilization of 35%. How many cows can they run 
in a year-long grazing system?

2. Only 75% of the ranch is grazable. How many cows now?

(Total Available Forage X Percent Utilization) ÷ (Animal Forage Demand) = Animal Unit Equivalent
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Calculations

1. 20,000 acre ranch produces 550 pounds of forage annually per acre 
and has a desired utilization of 35%. How many cows can they run 
in a year-long grazing system?

2. Only 75% of the ranch is grazable. How many cows now?

(20,000 acres X 0.75)  X 550 lbs = 8,250,000 lbs Total Available Forage

20 lbs X 365 days = 7300 lbs a year per cow (demand)

(8,250,000 X 0.35) ÷ 7300 = 395 cows (AUY)

(Total Available Forage X Percent Utilization) ÷ (Animal Forage Demand) = Animal Unit Equivalent
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Calculations

1. 20,000 acre ranch produces 550 pounds of forage annually per acre 
and has a desired utilization of 35%. How many cows can they run 
in a year-long grazing system?

2. Only 75% of the ranch is grazable. How many cows now?

(20,000 acres X 0.75)  X 550 lbs = 8,250,000 lbs Total Available Forage

20 lbs X 365 days = 7300 lbs a year per cow (demand)

(8,250,000 X 0.35) ÷ 7300 = 395 cows (AUY)

or

527 cows X 0.75 = 395 cows (AUY)

(Total Available Forage X Percent Utilization) ÷ (Animal Forage Demand) = Animal Unit Equivalent
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Calculations

1. 20,000 acre ranch produces 550 pounds of forage annually per acre 
and has a desired utilization of 35%. How many cows can they run 
in a year-long grazing system?

2. Only 75% of the ranch is grazable. How many cows now?

3. What if the ranch was rotational and only wanted to graze each 
pasture for 30 days?

(Total Available Forage X Percent Utilization) ÷ (Animal Forage Demand) = Animal Unit Equivalent
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Calculations

1. 20,000 acre ranch produces 550 pounds of forage annually per acre and has 
a desired utilization of 35%. How many cows can they run in a year-long 
grazing system?

2. Only 75% of the ranch is grazable. How many cows now?

3. What if the ranch was rotational and only wanted to graze each pasture for 
30 days?

(20,000 acres X 0.75)  X 550 lbs = 8,250,000 lbs Total Available Forage

20 lbs X 30 days = 600 lbs a month per cow (demand)

(8,250,000 X 0.35) ÷ 600 = 4812.5 cows (Animal Unit Equivalent Month; AUM)

(Total Available Forage X Percent Utilization) ÷ (Animal Forage Demand) = Animal Unit Equivalent
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Calculations

1. 20,000 acre ranch produces 550 pounds of forage annually per acre and 
has a desired utilization of 35%. How many cows can they run in a year-
long grazing system?

2. Only 75% of the ranch is grazable. How many cows now?
3. What if the ranch was rotational and only wanted to graze each pasture 

for 30 days?

(20,000 acres X 0.75)  X 550 lbs = 8,250,000 lbs Total Available Forage
20 lbs X 30 days = 600 lbs a month per cow (demand)
(8,250,000 X 0.35) ÷ 600 = 4812.5 cows (AUM)

or
no alternative to this!!!!!!

(Total Available Forage X Percent Utilization) ÷ (Animal Forage Demand) = Animal Unit Equivalent
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Calculations

1. 20,000 acre ranch produces 550 pounds of forage annually per acre 
and has a desired utilization of 35%. How many cows can they run 
in a year-long grazing system?

2. Only 75% of the ranch is grazable. How many cows now?

3. What if the ranch was rotational and only wanted to graze each 
pasture for 30 days?

4. What if you wanted a 50% utilization on that rotational strategy?

(Total Available Forage X Percent Utilization) ÷ (Animal Forage Demand) = Animal Unit Equivalent
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Calculations

1. 20,000 acre ranch produces 550 pounds of forage annually per acre and 
has a desired utilization of 35%. How many cows can they run in a year-
long grazing system?

2. Only 75% of the ranch is grazable. How many cows now?

3. What if the ranch was rotational and only wanted to graze each pasture 
for 30 days?

4. What if you wanted a 50% use on that rotational strategy?

(20,000 acres X 0.75)  X 550 lbs = 8,250,000 lbs Total Available Forage

20 lbs X 30 days = 600 lbs a month per cow (demand)

(8,250,000 X 0.50) ÷ 600 = 6875 cows (AUM)

(Total Available Forage X Percent Utilization) ÷ (Animal Forage Demand) = Animal Unit Equivalent
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Decision-making

• USE THE CALCULATIONS WITH CAUTION!!!!

• Inherit errors with clipping samples from cages 
(generally over estimates)

• Inherit errors with clipping samples due to lack of 
landscape representation (sample number)

• Timing, Intensity, Distribution, Duration (TIDD)
• Desired utilization is only a guide not a set 

threshold
• Beware of other uncontrolled grazers with livestock 

(Elk, Rabbits, Grasshoppers)
• Always use professional experience and 

judgement



BE BOLD. Shape the Future.
New Mexico State University
aces.nmsu.edu

https://pubs.nmsu.edu/_b/B829/index.html

NMSU Guide B-829

https://pubs.nmsu.edu/_b/B829/index.html
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Was This Informative?

Take a Brief Survey

Thank You


